o

=

R

n

N

I

¥ A

> i

m
¥ T
B Z
[
Bye
Bye
F B
X
%=
H %
£ iR &
& E
N
B K
£ &
W OEE
H &
A E
%
# &
B O K
(1T

i
3

B e

2
2]

> i

§a ot

7

HPF

b=tk
-toh)

(TN21)
(TN21)

#1%)
(CEG)]

(MSS)
(MSS)

(THYH)
(TYvh)

#1%)
(CEG)]

(RRTC)
(CEG)]

(TGK)
a=-%

#1%)
&1

(FEETA)
(FFEETA)

(FZ4Y)
(Wacc)

2017 ZERBUAZT7T-REFIE MFEXRE

NMEATEFLTILR
N
KA =% 4
v L@ K&t e}
62 60 61
&
il =
=
63
g
BER =5 x
B e
63 60
___________ E
e Wi =]
A it
61 60
A
B4R s 2
BE e
60 63
o
wmA | tm X
I
60 62
i
Bk L R
R *it
61 60
K
A H ER 3
B &l
61 62
=1
A £ L5
i it
62 60
i
X% ) #
e i
76(2) 62
=]
x5 aa ®
22 Bx
63 61
bol)
¥

op

il

o o 1R

il

M\

ot S5

(2017.10.178ETHR)

A @)
¥E (1T

(Wacc)

A
¥E (6K

— @a=-9
# @@=

(THYH)
(TYvh)

L™

E EER
g Tm

E2D I CEON
%G

AN (T6K)
¥ (ZATO)

[CNCE)
B (54%)

B wss)
Y& (MsS)

X EEam
N EEAD

HoEmnA
¥ (THTA

AN G-tb)
B @)

21



